Let Him Go, Let Him Tarry
A Traditional Irish Song

Arranged for SA by
Peggy Carter

Accompaniment for piano and
optional hammer dulcimer

CARTER CHORAL COLLECGCTION

Ranges
Soprano: d-e”
Alto : B-d

Language: English

Characteristics: Marcato and legato phrases, Accelerando,
Major to minor tonality, Dramatic action suggestions

Time: Approx. 2:10

Published by Peggy Carter

16142 Hexham Dr.

Spring TX 7739

Ph. 281-370-9495

Email: peggycarter77@gmail.com



Let Him Go, Let Him Tarry

Traditional Irish song

Arranged for SA by Peggy Carter

Traditional Irish song that dramatizes the old story of a
love gone wrong. Arranged for 2-part treble, using a
combination of block harmony and countermelody.

Singers will learn to use dynamic contrast and tempo
changes, combined with contrasting legato and marcato
phrases to produce an interesting performance.

Directors can use their own creativity to "stage" the
performance, and will discover a great opportunity to
teach diction and phrasing.
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Irish Trad
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Leaning slightly forward, Cup right hand
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